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a) According to 8ynN 217 what is the wyn of the xn»9a that y9951) 8 ©NPR O1TY
»2ay 7aya? Isn”t this obvious? The 7 91 on the 927 Yya was a Pm>wn 2vn and not
2y TAYO NON.

What is the *N72v7s (4) question and answer in )00 27 #17?
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N29 seems to not make any sense the 927 Yya was had a 7 993 of »ay 1ay> non. So
what if the 01217 D1y have D 023, the principle of ont 9wN5 should demand that the
DN DTy are sold.
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Explain 8310 29 #2 in line with the analysis of X231 #1 above (.2)
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Analyze X29#2 — with the help of the »»xn (5). Why is it clear from the last line of
the »N that there is no 23 ow transferred to the o 7y (Reb Yisrael — this was one
of the main reasons I stayed



